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Crossword - Computer Networks

1

10

Across

5. The protocol used by Telnet

application is

7. transmission media has the highest
transmission speed in a network

9. Application layer is implemented in
10. FTP is built on architecture

Down

1. Three or more devices share a link

in

connection

2. Data communication system
spanning states, countries, or the whole
world is

3. Asingle channel is shared by
multiple signals by

4. The data link layer takes the
packets from and
encapsulates them into frames for
transmission

6. The first Network

8. When 2 or more bits in a data unit
has been changed during the
transmission, the error is called
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